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BT-301 (AB/AU/CE/CM/EC/EV/IME/RA/RM) (GS)
B.Tech. II1 Semester
Examination, June 2023
Grading System (GS)
Mathematics - [1I

Tirne : Three Hours
Maximum Marks : 70

Notre: i) Answer any five questions.

¢t oTg we=T 1 g HIfgI

11} All questions carry equal marks.
a:ft wet & waE SF &

iii)} In case of any doubt or dispute the English version
question should be treated as final.
feht +ft mpR & Hog Fwar Rarg H R F S8 T
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I. a) Find Solution using Newton's Divided Difference
Interpolation formula

x 300 304 305 307

F(x)]2.4771]2.4829 | 2.4843 | 2.4871

= 1 RAAfoia 3R g &1 998 aRS g T Hiferd

b)

X

300

304

305

307

F(x)

2.4771

2.4829

2.4843

2.4871

Using Newton Raphson Method, find the real oot of the

equation 3x = cosx + 1.

g W RAfY & wam a=d, TR0 3x=cosr + 1

arafds gd A Hifemi
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2. a) Find the first and second derivatives at x =1.1 from the

following table
x I 1.2 1.4 1.6 1.8 2.0
F(x)| 0 | .1280].5440]|1.2960 | 2.4320| 4.00

fr=ferRed wROR | x =1.1 W T8 3R AN et s

i
x 1 1.2 ] 14 1.6 1.8 [2.0
. F(x)| 0 | .1280[ .5440[1.2960] 2.4320 |4.00
b) Find Solution using Simpson’s 3/8 rule.
X 0 0.1 0.2 0.3 0.4
¥ 1 0.9975 | 0.99 | 0,.9776 | 0.8604
=T & 3/8 FRIT 1 ITINT FHReh FHTUTH @ |
X 0 0.1 0.2 0.3 0.4
1 [0.9975 | 0.99 | 0.9776 | 0.8604

3. a) Apply Runge-kutta method of fourth order to solve

lﬂg—:x1+y2 :y(0)=1 forx = 0.1

Fr=feifiaa o gat o & forg |1 s Y 0 g fafty &
WA |

ID%=11+_}J2 :¥(0)=1 forx=0.1

b) Use Milne's method to find the solution of differential

equation %= x -J’z; given that y = 0 when x = 0 for
0<x<l.

frest ) Rty T ST B TR g—=x—y2 —
g FfRm R g y=05@ x=0% Ao <x <l.
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Find Laplace transform of the following data

i) fcosat

ii) ¢ sin4r

fr=rfeiRad stidst @1 AT WIT=R ST HIfg)

i) fcosat

ii) ¢ sin4¢

Solve : (D?+ 1) y=1tcos 21, y(0)=0=y"(0), > 0.
& AT : (D2+ 1) y=rcos2t,y(0)=0=y"(0),1>0

Find the Mean and Variance of the Poisson distribution.

RAT d¢ &l 71T JAHR J[R0r $7 hifg|

A fair coin is tossed 10 times, what are the probability of
getting exactly 6 heads and at least six heads.

T fysger fiyes @t 10 9R I AaT 2, 3l 6 R iR a9
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Use Taylor series method to obtain the value of y at
x=0.1, For the differential equation % =x+y; y(0)=1.
y BT JT 5110 @ o foTq eeir ivaer fafty o1 I9ain o= i@t

x = 0.1 I %=x+y; w0) =1

Solve the following equation by Gauss-Seidel method
20x+y—-2z=17

3x+20p-2z=-18

2x — 3y +20z=25
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fFr=fefaa wdfiaxo &) nia-diza Rt grr g Sl
W0x+y-22=17

3x+20y-z=-18

2x — 3y + 20z = 25

Solve the following system of equation by Crout's method
2x +3y—-z=5

3x+2y+z=10

x=-5p+3z=0

fPrafearflaa wifiaxor Frem o wee Rt @ ga Hidm
2x+3y-—z=5

3x+2y+z=10

x—5+3z=0

Find the Founier Cosine Transform of e™*

e 1 FRUR BIoqT HIAERY I Bl

Find y (0.2) by Euler's modified method

d
Iy= log,g (x+y), ¥(0) =1

Ier 6 At fafty grr y (0.2) stra Hifrg

%= logie (x+ ), »(0) =1

Find the root of the equation x* — 9x + 1 = 0 between
x =2 and x = 4 by the method of bisection.

gafgara= & At § x =2 3R x =4 F @5 wiigwo
x}—9x+ 1 =0 &I go1 s HIfoWI
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